
Transportation Safety Board 
of Canada 

Bureau de la sécurité des transports
du Canada 

����������	
��
�	������
����
	�	
������
������	

��������

�	��	���	����	�	
��

	
��	�

�	���	�
���������������� �

��������
����

	�

�	���	�
��������������!���

�	�����
	������	

	����
���	
��
�	�
����
��

�"�#$�%�&�'()*+�,)���
������-��
�����.

�	��/�0�
��	������





�������������	��
����
�����
�����
����
���������������������������
��������������������
�	��
��	
���������������
��	��
����
�����
�����
����
����������������
����
����
	
���������
������
���������
���
	�
���
���
��
	
��
��
�
	�
��������	�
�

 ��������!��������
������������������������
���

"������!�
��������

������
	�����
�#�$%$&'((����&)"*�
�!+
��������
���
	�����
�#�$%$&(,,����&-�+)
��
��
#��
����
����
������
���.�������
���	
(/������	!���
��������#������0��
�����
���12�3���
���1444

 ���������������+445,,,1

��������

������
�#�$%$������	�42$���
��
#��
����
����
������
���.�������
���	���67�42$�����
����
���
���������8����
������
�������
����9������������	���
�&��
����
���������
����������	��-���(4,�
������
�#�$%$������	�112��!+
����������+�+�112�����
������		�������	#��:��+	��������
��
�
���
�������������������	�
�����-��($,��;��	����//��
		�
����
�
��������	!���
����
���
����������
�
����
����	��98 ������<
�������=����������95-��������#������0��
�����>
+�+�112�����������������������-��?1,����:������������

���@����
����(/������	!���
�����98 
������#����>�	���
	��������67�42$���

#��	����������A	������!
	���
���
��	��-��(4,������������
�	�
�����������
���!�����

������
�	��
���� +���!������=	
����������������������
	����
��������
����	�
������
��
���
:
�<������
����
		�����������=
������!��
���������
���		


��
����+������
�
���B���
��
�
������

�
�����
�
����(����	!������	!������
���	���	������
C����	��������
�
���
1�,,,��
��
�
���	���	�������
��	���!�
�������������
���D���������/����������'�,,,��
��
�

�	�
������
��
���
��������������������
	�





+���������������	�����
������

� ��
������
�
�����B��
���
����57�������
���
���
�	�����������EF��G���
�
�

B������
�>�
��=

��
���
���������
���

�������
��
�����������
������������� 1

��
��
����
��������

������
�

�������
�������
������������������
������������

��
����B���
��
����
�����	���
�
��
�	����
���
��
	
�����������A	��������#�����
�������
����
���
������������)
�	
���	!
����
����������������������A	����#
���	��+�������*
��
��#����
�
	!����B��+����67�42$>���
�
���
�
#��
�����
�	!���
�����-��(4,>������������	�������A	�������)
�	
��
1,���?%��
��'1>������������	�������������57���>��������<
������������
���������

�
�����
��
���
�1,���?/����������A	�������
����������)
�	
���
����
=
��	!��
�����������>������
=
��	�������

�
�
�����
�	��
���������
����
��
��
�����
���	��=
����������#��


��������	���������=
������!�
�������	�
����>�������������������
	��!�����
��������=	
��������67�42$��+�+�112>���
�
���
�
#��
�
���
�	��
�����-��($,>������������	�������A	�������
����������)
�	
���1,���/(��
��'/���������

����
=
���������������=
����������#��


��������	���������������������
��������

6����<
�	�����������������
�
���������
�����������
�����
�������������0+78"��+������
7+9��+7+6+>�	�
������A	���
���
�
������	���
�
��������
����=�
�����
��B��
�
�����B���B
��		<#��
���
����������	�����	����	��
����	����
�
��
����=�
��
���
������������������

�����

��������

��
������
�
������
��������������
��������������+��+00������

��	�
����
�
#������
���

�������������
��	�
����
�	�
�	

��
�������
=
���
��
���
	

��
�	��
��������
=���������
���
��
	
��

�������
����8������
�����������������	������
����',(�'��7����+����	�+��+00>�H�	�
����=	
�

������
�	
>�	�
����
�
#������
�������������������
���>�	�
��
���
�
�I�

���
����	�������A	�������)
�	
�����

��������#��	��
����������)
�	
�������
�C�
�������
����

������	!
��
����>�	�������A	�������
	���	���
��	�
���

#��	����!+�+�112��

���
�����������������
��������
�����&)0� ����
���	�
����	��������	�
�����
���	������������������
�
��������
�����
���
��?,������������0����

>������<
�	�
���	��	
>�������=	
���������
����
�
�����
�����
�	��
���������
)
�	
>�	�
������A	���
�����	����
������������
��	���	�
��A����


�	��	��
���������3��������



����
��
���
���������������������
�������
��	
<����+�������>�	�������A	�������)
�	
������
�����
����+�+�112���������
���&)0� ��������	���
==�����������
��

�����
�����1,������
�
�����=�

>�������	������
=������+�+�112������	
�����1,���/(��
��'/>�	�������A	�������)
�	
�
��
�
�����������������	���
==�����������
��

�����
�����	����������(,������
�

��������A	�����������

��
����������
	�����	��H����3����
��������	��������I��������
�
��� ���������

	!�
�����
����
=
���	�
����=	
�
�������
�	
�������	�
�������
	
���������
	�#��<����������
�������
����	
#���
���	���������������
������
�����	���
����
���������������
�
�
�����	���

������������
���������������������
�����	����

�
������
:���	���������
�������

>������>���������	������
���
�
����
�����������	�������A	�������������������������������	�������A	�������)
�	
�
��
��
���
���
�������
	���1,���/(>�
�
��
�����
����
�������	�����=	
�>������������
����	����

�
��������������
���
���
�1,��
����
����
�	�
���
��
�������


������	��������������@����������&	�>�+�+�112������
�



+���������������	�����
������

' �������
��
�����������
�������������

��
������������������������������	�������A	�������)
�	
��+������������	��������
���
��>��
��
�����������
��������
�����!+�+�112��		�
������������������#�������!�	�
�������
�������
����
���=	
��������67�42$���	�������	�
��������	�
�����

������
����C
���&�

������� �����
��������������
	���	���

��

�
�����������A	�����������.	�
��#
�
�������:����	������
������
��==
����
���	��������������������
���
��
������	���

����������
		�

���
�
����	��#

��������#���
�������������B���
��
�������B��
�	�
�
�	���
�����
>���		�
&�

����������������
	�
����=
B�
��@�1,���/$��
��',>�	�������A	�������)
�	
���=�
��������J�������� ��
������+�+�112�����&)0� ������
����
		���	!�
�����������������
�������
	
��+����������K�	�
 �����������������������+�+�112�����&)0� >��67�42$�
��������
����4�������
��&�
����
�&)0� ������	�
��������	����
�������

������������+�+�112�����&)0� ����������	����������($���>

	��
������������
	�=�����
���	�
�����������������������	�����B
<�����
������������	������
�����
��
����������������

����
���������=	
�>�������
�����&��	�����	��
��������
����	����
��
�	�
��
���
��
	
�����������A	�������)
�	
�������=�

>���1,���/2��
��1'>�������+�+�112����������
	������

��
����������������-��?1,>�	�������A	�������)
�	
���������
��������#���������	�
����
����
�	��
����������	<��������������#�����
	���:�
�����
�>����
	��������

��
��
��������	����������
1,���/2��
��1%��@����������&	�>��67�42$�
��������
����('�����!+�+�112��������	<������
��#���
�������1,(���#��
>������$�������
��&���
������&)0� �����=����
��� ���������
����
��
	

��������	!�
���������������+�+�112�����67�42$�

��
�
:���	�
����	����

�
��������		����
�������=
��==
���
���	�������������
����
����
=
�
�������

�	��
&������
���
�����
���������
����
�
#������
�
���	�
�������=
>�����������	!
��
���
=>
	!�	�
��������	���
��

�&
�	��F���	��&������
��
����	
�����
:���	�����	����

�
��������		����
	�������=������������
���	
#��>������������	����
���	�������������������
:���	�����	����

�
�����
	�������=>�
�
������������
��=
B��������
�������	�������A	���>�
�
������������
������	

�������
�������������&��
�����#������=�L�������
���������������������������	��
&������

	��
������
�������=
�
������<
�������
�	�������	�����������
����	�������A	�������)
�	
�����

�	�

��������������#�>�
	����
��
����
������������������	��=����
���������&��
�����#�������
����


�	���
��������!��
	

��
������������=����
����!�
����
���	
#���
���

���
�����67�42$������

���&)0� ����
�1,���/2>�	�
��	��
&������
���
����B���
��
�
��
���
���������
�����
�		�������������	��=����
���������&��
�����#�������
����
�
�	���
�����>�	�

�	��
&������
����
��
������
�
�����
��������
��������	�������	������>�

��
�������	������
����
�	��&������
�����67�42$��==
������	�
��
���
=����	�������
	�
��
������������
���������	��	�
����
����&)0� �����	�
���������	��&������
�����67�42$����
���	��
���
���������	��
:���	�����	�
��

�
��������		������&)0� ��@�1,���/2��
��1'>������������K�+�+�112�������������������>
	�
��	��
&������
�����&)0� ��������67�42$�
�����������
���������������
�		�����>������

��
���
����
�����
�
����	�
��
���
=�������	��	�
���������67�42$�

@�11���,,��
��,1>��67�42$������������	�������A	�������)
�	
����	�
���

#��	�����
	���
���
��	�
-��(4,����������������
������������������
�������������	
�����	����+�������
	��������67�42$��
=�
��
���
������	����+�����
������������������������


�����>���

����
����������� +



+���������������	�����
������

�������
��
�����������
������������� (


��
����������	�������������
	�
��������
����2,,��
��
���&��

��
��@�����
�
����>�
	���������	�
�
	�����������
������>����=�����������B����������
����	�������#�
���������������
�
����	�


�
�����
��
�������
�����	�
� +>�
	�
��
���

����������������=�������
���B
��	�
����=�L����
��������	�����B��B
#������	�� +��"���	��
�
��>�	����
��#��������	
�	�����������

��	������	���
��
��+
�����������
�
��������
�����������+��<
����
������
���	��-��(44>��67�42$��
������������
	��	�
�����������


<�����
�	�
����
�������


#�����-��(4,�������
	������+�+�112���=�
��
���
�����
	����
��#�����
������	
�	�����������

��	������	�������
	���������
��������	����1/��
		�
�������
�
��L�������	�����
�
�
������� +����-��(2'�������
��#����+�+�112�������
�
�
�
�	!
�
�����
������ +
	���3�
#����������
������>�����
	����
���67�42$��������������
���#�	�����������
�������
	��
������������
���

�����

��		�������M�����������	����	
�
������+
��������>�	�
��
	���
���
����

�
����	�
�
�
�����
��
���
� +���!
�
��		��
����������+�����
����������=�
�����
��	�����������
�����������������
	

�������������
��	�


�����	����
<����

����
����������
��������

�	��������
�������������
������

��	���	!
�=�����
��������
		
�>�	����	����������=
�����
�����=�
�	����������>���������	����
������
����

�
������
������������������������������
����
	

��������
	�
������
���9�
�
�	!���	�
��������

��������A	����������	!
��
�����N��������
���
�%��
����
����(%�
������
��:������������	����

�#�
����
�

������67�42$����
�3������ +������+�>������������
��������	����
������+�+�112�
���	�
=�����������1,���/(��
��'/����	����

�#����	��
=������+������
�

������67�42$���11���,,��
��,1>
	�������A	�������)
�	
�������
�

������L�
�1(��
�
���
�����
�
���
����������������������

������
���3�����
������=�
��	�
��

�
���3��������

�
��
�
���	�
�=
���
�������#��


��������	����

�����#�
���	�����
���
���������������������	�������

��
����
>������
������
�������?/�O���
����
���������A	����������������
������		���6������
������#�
����
�����
��
��
�������
���

������=
�����������������	����	����?1�
������
��M��
����%4�
������
��1$�O��������

�

���
�	������������������
�������
���������
����
�
#������
����!�����
�������=
�
���	�����=���
��
���	
>����
�
#������
���
������
�����
���
�
���
��
���	
�
���������A	���������
������
���
�����	�����������
�������
�
�������
���=�

�
����������H�
����

�
�	�#<��
�I�����!������
���
����"����
�����������
�#����+�.�"������������=
�
������
����

��	�#<������������	�������	�������

�����
����
�
����

�
�=�
�	�
>����
��
�������	��������H��:���
���
�I>�
��
����
����������#�����

������������	�
�����������


��������������
�����	�
����
�������	�������=��
������
���������
�
��N
H���
���������
�����������

���
������	�#<������


�����
���
�����
������
������

����
����
���
��
���3��
�	
���
���������
�����	�����	�#<��������8������������=�

�
���
��	�������
��������
�
���	�����
��
����������
==
��	����I

���0+78"��+���
�
��	������	�
������A	���
���
���������
���������B���
��
���������
�	�

������
������
��������	�#
���
�����
	���
��". M"��

�	�
�����
�
��
����
	
�����
�������
���
�����������
���
����������

+������	>�	������
���

��������
������������������
����
����
�
#������
>�
�
����	�����
����
������������������
�
���
�����
�������=
>�
�
�������	����������������������������
�
���
�����

�����
�
������
>�
��
���	������?��
����
����/,�
������
��$(�O��������
��

���
�	������
�2,��



+���������������	�����
������

? �������
��
�����������
�������������

4,�����
<��
�
������
��:������������	���

������
�	��
��������+��������
��
����%4�
������
���
��

�#�
�����
�

�����	�������A	���>�������	����1,�
������
�������
�
����������
�����
�������������������=
���������
����1,�
������
����

	�����������	�
��
���
���

�#�
���������
���

����������
����
�����
�����
������#�
�������
�
#������
�
���	�����=������
���	
>
���
�
#������
���
������
�����
���
�
���
��
���	
�
���������A	����������
����
�
����	���

���
��	��	���	�
��
�
���
>���=�
���	�
�������
�
�=�����
���
����
�	��
:
�<���������
���������
�������

������� 6"�����������������3����������#������	�
�=
���
�������#��


��������	��������������
��������	�
�������
���
��
���	�����
���
>����
����
�������

�����
�	��1(1����0+78"��+�������

������	��
���
�����������A	����
�����
��	����
��
���
������

	�
������
�
���
��
�����0+78"��+�������
���������	�
�
���
��
����	���
���	��
������
����
������	������
�



���������
�
#������
�
���	�������

�����
������	�����������
��
��
��
���������	�
�
���
��
���������A	����
�������=
���	������B�
�
�������
���������>�
���
��
���

������������������
���	���������
�����
���		


��
����	�����	���������
���������=
��������=�

>�
	
������

#��	������	�
������A	���
�����	����
��������=����
����
����
�
#������
�
���	�����=������

��	
������

�����
��������
������
��������
���
���
	

�����
����������:����!
�=�����
������

���
��#�
���������
����
�	�����
����
��
�������������
�������������:����!
�=�����
����6�

������
��
��������
������A	���
����
�	�����������	�����
�����������������������
��������
����
�����������	�
��������
�	
��
�����
��������
������
�������������#�����
����������

�����
������
����������	���



�����
����


������

�����	��
���������������	�
�������=
��6��
�
���$�����
�
��
����#�%
��
�����������
��
�
�����
�
������
��������������
����������������������>����	
�����144,>�	��������
�����
������	��
����
������
���������+�����������H�	�
��P���
���	�
�	�
�������
���

�����	�
�����A	�����
����
		����>���	�������
���
��
>���������
�����
�������
������	>�
�������
�������
	����
������>�������	������������<
���	�����	�����������<������	���

�����
���I��M��#�����	>
	��
������
��������
���B�	�
���������������A	���������������������A	������
�������
>�	�
�����A	������������	������
����=����
��	�
����
�
#������
��������
�

��
������

����"�

������
�������
������

�����		��
���!
�=�����
���+��.�&�4$,'����7+9��+7+6+>������������'���������144$>�
��
��	�
H�+������
���	��
����
������
�	�
���+���7+9��+7+6+�I�����

�>���!������������	!��3���
=
=����
����	���1����7+9��+7+6+>�	�
������A	���
�
��������
�������
�����������	��������
���
������	����������
�����	��
����
		�������
���	
������	�
�=�����
��������	�������	����
����
�

������
����6��
�	������
����H�+��	:
�����	!��3���
=�=����
����	���1�I���������		��
�>
7+9��+7+6+�=�
����������������H�������������!���������
�
��������
����	�
�
�����������

��



��
�����������������!������
������
�

����
��
�
�������

����
����������������
	!������
����!�������
���������������������������
�
�3��
������������
�
���
��
��
��
�I��.	
����
�����������������	�
����	

����	�����������������
������������#�	������
�������
����
���
������������
����	P��������
��������������=�
�	������#����������
	�



+���������������	�����
������

�������
��
�����������
������������� /

��������A	�������)
�	
������
		�
��
��	����
����������)
�	
>��

������	�������A	�����������	�
�����A	����
�������
��.	����
�����	
=
�������
�����
����������
����B�=����
��
��������
���������

��	������A	�������
����������)
�	
��
������
������������������
������	�
������
�����	
�
����
7+9��+7+6+�������
<������==���
=
����������A	�������)
�	
����
��'%���
����B���
����������
�����A	����.- ���<#	�
������	���B�
�
�������
�����
	������
		�
����	��
��
&��
������*
��
��#>�����
)
�	
��
��	������
�
������
>�����

�12���
�����
��
&��
������*
��
��#�
�������
�����������

������
>�����������������=
#�����������������A	���������������������A	������
�������
>������

=�
���������	���
����
��
���������
	����
�
������
����)
�	
�������6�:����
������
�
������


����
���
>�����

��������B����*
��
��#&M
��������*
��
��#&8��
��
������
�
������
�
�=��
���
�
��
����B�����
��
�
������
����
�����#�	������������
��������
��	������A	����������������
	!
��
������@��������������	��3������>�	�
��==���
=
���
����������������

B������A	���
�������B

����
		���
Q�	������
���
����
		�����
��	�������������������
�
���		<#��
����=�
�����
����
�
���
	������������
����
		���	���
���	����
�������
��
�������=�

>��������
���������
�������
�����
�����A	���	�
���
��
���#�����
���������A	�������������������A	����
�������
����
���������
*
��
��#&8��
����������������	�����������
����������������
����������
����
		�����������
��
��������A	�>�������������������������
������A	���
����=�
�����
����
�
>��
�����
������������

��������A	�������)
�	
����
�����
���
�������

�?������
����1/��
����
������

�	�����������
��
��������������
	�����
��������
�������
�����������A	�����
����������)
�	
�����

�1/��
����

�����

�
������
<������
����.	��==�����
��	������
���3�������
����:�	����������
	������	�������=�

>

	����
��=�
�����������
���	������
���	����
		�>����4���?/���12��>������
�	�
����
��	�


��1'������
���
?/��
����
��������
�	
����������
�
����B������
���������
	��+������
�������������
���>�
	����
����


%������
����
����
	>�
�
��
�������
����
����
	�������������
��
����+������
���
�$�����
��

3���
>�
	����
�������
		����������%�3���
��+������
���
�('�����
��
�3���
>�
	����
���==������1%������

������B>�%������
�
���	������
��
������
����'������
������
�
���	������
��
����������
����
�������
�����		���
�������	���������7+9��+7+6+����	�+

��
��
��������
�������������A	����
���=
�����
����+���+��
�
��	������	�
����	�:�
���
��������
�������
�
����B�3���
��������

���
����
=
��+������
���
�('�����
��
�3���
>�	�������A	�������)
�	
������
������=
�
����������B
����

�
��!�����
�
����B�3���
��������
����
����
=
���!
�=�����
��������
		
���������
���
	!������������������>��������
����	��������������������	�+������*
��
��#>����#�����

�����
��
��������
�
���	������
��
������
�������
�	
�
��
����3���
��������
����
����
=
����
���
	�
�������������
�����3���
������<
�	���������
�����		���
�������	���������7+9��+7+6+���
	�+���+>�	�
������A	���
���
����������
		��������:�����(?������
�����
���
��������������
��
����

�����
	�
��#
����������:��������������
�����	��	���
����������6��
���
��
����
�����

�����	�
>���	�������
����������������	������B
���
=����1//������
���������
	����('�3���
����
�����A	�������)
�	
����
���==������142������
���������
	����('�3���
��"����������������
���>�
	
���
�������
		�����1?���1%������
��������
�������'?������
���%�����

�
>�����=
�
�����	��
������
�

���1,������
��������
����������B������
���������
	>�������

�=�

�
���

B>�	�����
������
�	�
�����
�
����

��������
��2������
����
����
��
��
��
��������������<
&�
�
����������������
�
�����@���

������
����	��3������>������������
���		��������
�
�	��#����
����	��
����
	��
����
�

������������



+���������������	�����
������

� ���=��
#������
����
�����

�
�������	����
�	������
�����
��
���������
	����������
����Q����=�
�>
�		����
�	���
����������	������
��

���������	�
�������
���������	�
�����
��
���������
	����	�

���


��
�
��
�	�
����=��
	
�	�
������	�������
�:	������
�����	�����
�����

% �������
��
�����������
�������������

��
�

#��
����=��
#����������������������
����
	�
����	�
�
�
����
�N����������

��=����
��
���B����
�����	��
=
���
���>����������

��������
�
������	!������
��>������
�
���
������	�
�����
������


�
	������	!
�=�����
��>�����������
�����
��������
���<��������	
��������
#�����
��
��P���
�
���������
���������������
������	�������
�����������
��
�
���

�����
������	�
������
�
���
�
��P���
���
�
���
������	�������
���������
�����������		<	����

�����������������
��������	�
���		�
�	�
������A	���
��������������
		��������������	��
���
����
��������
��	�


����	���

����
������	����	�:���>����
�	����������
�	
�
��
�
���
��
�����	�

�������
��
���		���
��
��6��
�
���$�����
�
�������#�%
��
�����������
��
�
�����
�
������
������
�������
����������������������>����	
�����144,>�	�����+�=�
����������������N

F�������#�����������
���B������
�
���	������
��
��

��������������������	�
=��
#������C�	�
������A	���
�������##������	�������
�����==���
=
������
�������
��#������
�����
����#�
������	��
����>����=
�����������>������
������
�����


���������	��
������
��==���
=
��"��������	������#����������
	�
�
��������
�
���=�L����	�
�
D�������	�
����
���	�>�	������������������������N

	���
�

�<�����
�����
����
�=
B��	�����������������
���������
	
�����

����������==�����
����
�����:�	��������=�3���
>����
	�=
B��	�
��������
�
��	����3���
��������
�������	�
��:�	�
���������
	���
���
	�=
B��	�����������B
��	��������
���������
	������

��
�������
�==������
����
��������
�������'?������
�

���+�4,&1/

����
����
���������������������������������������������
��
����������������������
��>���


�������	
�
�����������=
B���



+���������������	�����
������

�������
��
�����������
������������� $

6��
�	��������������>�	�����+�����

��N

R�����������	��=�����������
�������
���
�������
�����������

��������


��>���

����	<��
��������
=������
�=�����
��������������
���
��>�����Q�������������	�

�==��
�������	
����	��=��
#�����#�����������	�������
	�������
��
Q����������������	�

�==��
���	�
�	
������
����	������#����������
	������		��������	��=������������
�������
�
���	������
��
>���
���
��
��
��
�
���	������
��
���������
���	�
��:�	�

�������
������������
	�
��������

�
��M���	�
���
���
��
��
��
�
�##����
����
�	�
�����������
������+�4,&1/>�	������������������������N

	���
�

�<�����
�����
����
����������������������
#�������

��
��
��
��
�
���	������
��
���������
���N

&� 	�����������B
��	��������
������������A	��������������
		�������
��
�����������A	��������
��
�����=
�
������������
�Q

� 	����������
�
��	��������
��������
����������B������
���������
	�
���+�4,&($

����
����
������������3���������������������
���
��
�	�������B�������H�	���������
������
�
��
�������I���������	�
�����
���
������		�
���������
������
�	��
����
������3����H�9������	�

����
���
������		�
�E���
���G���������
����������	����	�:������������	�+

��
��
��������
�������
�����A	��������=
�����
��>��		�
�E
���
���G���
������
��I��!�������������7+9��+7+6+����	�+���+
���
=
��	��1(���D��1444��B
#������
�
�������1,������
����������B������
���������
	��
�

�����	�
�

��
����
�����������
������
�
������������
������
���
����B�����
�
�����������
����
�������
��
�����
���������3���
=�������
����
���
�
����
�
��
>������	�������
	�������
��
����	��=��
#���
�!�������
�
��	���#�	��������������
����
����������
��=�
�������	���������

�
���#	������
��
���������������
���
���
����
����
��
�����
������������
��
�

��
��������
���������������+4(�,',2>�+4?�,'('>�+4%8,14%>�+4$",1/(>�+4$+,1/,>�+4$5,,,%>
+425,,,'>�+425,,,?��
�

�����	���������������
��
����+44S,,1/�������3�����
�����
������


���	������
��
�������������
�
>�����������������
����	>�����������������
�
>���

���
���
��������
�
�
�==

����
�������	��=��
#������C�	�
������A	���
�

+�����������������������#��	��
����������)
�	
>�	�������A	�������)
�	
����
��=�
���������
��
"���������		�&�
>�
	����
������������

��


���
�=����		���������
�#�
�
����
��
��������
������
�����

�
���������
=
���
�����
�	
�
��
���������
��
�����
�
����	��
��������
������*
��
��#�����
�	��>���
�����
�������������
#��������
��������
��������>�
�
�
��
������=��������������
�����C�	�

�����A	���
����������A	�������)
�	
�
���������
��

�	�����
=
���
������		�
����
���
�����	�
=�����
��������	��
��

=���
������=�


����		����
������A	���
�



+���������������	�����
������

2 �������
��
�����������
�������������

����
�������
�������"��


��
�
���
=
���
��
����������������
#
��	�
����	�#
�
�	���� 6"�����	!+��������:�
������

=����
��
����������
���������	����������
�������=	
����������
�������=
��"�������	�
��

�

�=�
�
���	�
=
����
������
�2,���������������
������
�4,>����
��
������L������	��=����
������	����������
���
���=	
����� 6"�����
����
���	�

���
���=���
>�

��
�������
�����
	

��
���������
����		��������

����3�#�����������	�>������
��
���������	����
���3�������
��M��144,>�	�����+����
������������
����N

	���
�

�<�����
�����
����
��������#�������
�	�
�
�
�
��
��
������
���


�
����
�	�
����=����
����B������A	���
���
������

��
��������
���

���	���������������


�����
����=	
�
�

���+�4,&(%

����
����
�����������������������������������
��������=�
��
���
������H�	��
:
�<��
�������


�������!�	�
������
�
��	�����
����
������������=	
��
���
���

�����������	��
����	�

:
�<���������
���������
�������
�������
����
�
��		�>����
�	��������������#��������
������

��
�����
������
>�������
�����3�
��144,��I�+�����������144$>�7+9��+7+6+���=�
��
���
�
����	�����
�
�����	��
�����	�
���


�
	
�������
	

���	��=����
������	����������
�������=	
����� 6"�
�����
�����3���
���
���#	����������=����
������	�������� 6"�����
����������������
����	������
��>
	�
����
����
����������
��
������������
��	�
���#������	�����

���$,,����	�#
�
�	���� 6"�����
��
������������������
����	���������144$��+�����������1442>�7+9��+7+6+���=�
��
���
������	�

�

�

����	�#
�
�	���������
���������=����
������
�����������
>�	�
��

�

�����
���
�����������
��	
��
��������	���������1442��8��
��������
�����������	��������
���������
����		����������������
�
��
��

�

����	�#
�
�	���������
���������=����
������	����������
�������=	
��
������
�
��������3���
�
7+9��+7+6+>����
�
����	���#	���	����
����
���1442T44>���=�
��
���
�����
	�
���#�#��
�����3�����

���������
�����
���	��	�
�=����
��
��������


�������!�	�
������
�
��	�����
����
������������=	
��

���	�
�
:
�<��
����
����
		������B

����
��+���������������

��������������������������>����	�

��

�����
���
��		�
������������
�����
������
��������������#�#�������!������
���������

��
����
�	�
��

"�������	���������
���	�����
����
��
����>�	�
�������
����������������B��
���
��=
����
������
����	�
�
�������
��������
����	�
�������
�����	��
���=�
��
�����	�������A	������
�������	�

����#

�������
�������
�
�������
�
����

#����=
�<	������	�
�������
�����	��
������	�
�
��
���
��

���	���������������		�
�����	�
���
��	�������A	���>�	�����
��� ������
����
�����������������	�
	����������	�����#

�������>���	#���	�����
�������
�������
�����	��
��������
���������������
=����
��� ������������	�������������
���������	��
���

>�
��
����������������=����
������
�����
��
	

��������	�
����B���
��
��+�+�112�����&)0� ���+�����	!
��
����>�	�� ������
��=����
����
�������������



+��
���

�������
��
�����������
������������� 4

����&
�

��������A	�������������)
�	
����
���������	�
����
�	�
����
�
#������
�����

�
��
����������	���	�
���=	
��������+�+�112�����67�42$����	����
�����>������>��
�������������	�����������
�����������

�������

������������������	��==
���#����
��
�	�
���	������>���	#���	����
���#���������
�����
����
�	�����	��&������
�����67�42$>������	�
��3����
����	�
����
�
#������
�=����

�����	�

=
���
�������#��


��������	���
����
������	���

��

�
�����������A	���>��������
����

��
�
����
������	!
�=�����
�������

�
�����	���	��
=
���
��>���	!�B����
��������	��
����
		��������	!�
��������
������	�
���
��
��

�!�B�������
���


��
���
������
���������
	������
�������
������
���������A	����������	������	�
�����A	��������
��=�
���	�

���
������
���������
	�
���	������
��
������������6���	�
>����#����
��������
	�������
��
����
��������	��������
���
����:������
����
��>������
>�����
������=�
�����
	�������A	���������
����#�	
<���������
����
���
����
����
	����

B������
>�������&����������
���
����#��������������������
����
	����

�������
<����������
��
�������
���������+�+�112������������

��������������-��?1,��6���


	��B��
��=�
������	�������A	������	�����������������	����

���������#�����
������>�	�������A	���
���)
�	
�
����
��
�����

�����=�
�����+�+�112���������
���&)0� ����������	����
�
���������	<���
���=�
�����
�������������������
��	�����
���
��	��

#��������������

��������
�
������	!������
���
;�����+�+�112�����������������������-��?1,>�	�������A	���������	
��	�����
����������������
	
����
����
�������
����	!��
��������	��67�42$����-��(4,�������
���!���������������
��>����
	��

����
����������������������#���������	�
�����������	��
�	��
����������	<������L�>�
��

�
����B��
�����

��		������
����������������������
��

���������
�����������J����
����
���
���=	
�
��F���������������
�
��������	��

����
������<	������	�����
������
����
�
�������
�


�
	������	!
�=�����
���

+��<
����
�������

��+�+�112���������>������
����
�
����	�
�����
�
�����	��
=
���
�����
���B����
�������	����

�������

�����	��
�����������
�������=
>�	�������A	�������)
�	
����
���	��

	����
���
��
	
������
����
		���	����	��
������	��

����
���	
����������������

��
������������A	������
)
�	
��!���
����
������������������
	������������&	�>����������
	����
�����	��B���
����>�
	

��������
���������
���==�
��	��������
��������
���
�����B�������
	
��	���
�
��
�
��������A	�>
�����
�
	�������	


�
��	�
��P���
���������A	���������������������A	������
�������
�����
�����
�����A	��������������B���
��
�������������
>�
	�
����������
	��
�������	���
!��
���
�����������
��
����
�
#������
�H�=���	���
=
�I>�����
	�
!�#
���!�������
������
�������������C�	�
������A	���
�
6���	�
>����������
������
����������	�
�
�
����
�	�����
�����
=�
����

�	�������A	�����
��=��
#���
��������A	�������)
�	
�����������B����
��#�
���
����
�
#������
�
���	�����=������
���	
�����
��������K�
	�����
���D�
������������	!�
���������������	�
���
��
�����
������
�����



+��
���

1, �������
��
�����������
�������������

��
�����
��
����	�
�����

��
��������
����������A	�������)
�	
������
��������������

����
��
���������������
���������B��	�����!������
���������
	���!�����

��
�����
��������������=	
�>
	!���	
����	����

�
������	!��
��������	��67�42$����	��=����
�����������
�
#������
�
���	�����=���
��
���	
��	��
�����	�����=	
��
���������
��
�������
���
�

#��
����=��
#��>������

���
��	�����
���

������
�
�==

���
������12'(3)2�����	�
�������
�����

�
�
��������
����	�
���	��=��
#����0���

!
	���=�
���������
��
��	������1/��
����
�������	���������!�
��������>�	�������A	�������)
�	
���

!�
����
�����
�������������������
���+��	
������
������
��>�
	�
!�
����#�#�����
������

��


��
������
�		������
���

������������
�#�
�
����
��
��������
�������
����
�����������
����
����
���������������
����������<�����
���������������
��������������������������
��

@�	��
��
&��
������*
��
��#����	!+������*
��
��#>�������
����

�	!���
������!�


#�������
��	
�����A	���������
!������������	�

���
�
������
������������
������������	
���������

����
�����
����
����	����		��	�������A	�������D�
!����
��������
�
��P���
�
��
�	!����
��!�����
����
����
���

�	��
�
��
��
����	������
����

����
����
������������3����3�������������������
���������+��

������
�
���������������������
���������
���
��
��
��
���	��
��
���B������
���������
	>�
��
�	�������B�������	���������
������
�
��
��������������	�
�����
���
������		�
���������
������
�	��
����
������3����+����������K�	�
���+���=�
�������������������
��>�����
����
�����������
����	��=�

�	!���	�:�������	!
�
��������
��#	�������
������
:
�<���+���

�����+����
���
��
���������
��������������	�����������=	
����������

������
�	��
������	!��
����
���=����
��
����
��	����
���	���

��

�
�����
������A	���
�



����
������

�������
��
�����������
������������� 11

'��

��
����


1� ��������A	�������)
�	
��!����
��
����B��
���
��������������������
!�

�������!
	��!:
���
����
�������=	
�
��������!�����

���+�+�112����������

'� �����	����������=
�����
�����=�
�	����������Q������=�

>����
�	�
�%��
����
���
(%�
������
��:������������	!
��
����>�	�������A	�������)
�	
������
����������
�
�$(�O
���
�������
�������
������������������
����
��
�
���
�������	������>�������
�����������
������
����
���

�#�
����
��
��
��

�����!�����
�������=
������������
�������

���
�
#������
�
���	�����=������
���	
Q���
�����
��
����
�
#������
��������������

���
�	�
�2,���4,�
������
�����������	!
��
�����

(� +������
���
�('�����
��
�3���
>�	�������A	�������)
�	
����
��=�
������������
�
������


���	������
��
>�
	����
��=�
���	�

���
������
���������
	��
����
�������
���
��������

�
�
��	�
����
	��!���
������=
�
���!�����
�
����B�3���
��������
����
����
=
���!�����B
����

�
�

?� ������������������������A	�������)
�	
>������������������	�
�=�
�
>��
���:�
�����!���
���
�����=��
#��������=��
#�����������	������3��������A	�����
�	!
��
������

/� ����������������:�	����������
	�����������
���������A	�������)
�	
>�	�
��

���

�!
��
����
�	
�
�����
�������
�
���
��
�����	��=��
#������
�����	�
�#����
�

%� �
��������������������

����������������������
������
�4,�����������������B
��
�
�
���
�
���
��
����	���
���	��
������
����>�	�
������

��
��������
���
��!�	����
����������


���������=	
������������
�����	�����+����144,����
�������3���
���

������
����	
���

$� �������
�



������������
������
�����
��������
�
���	�����=������
���	
�����������
	!������
�����������A	�������
�
��P���
��	�
���#����
>��������������	��
����
		����
��������������	����������!+�+�112����	������������

���	����>�	�������A	�����������
��
�������
������
���������	�����	�#<��������
!
	
����������
������
�����
���������
��
�
���������	��
����
�����������!
	����
��	!���
��������	��=�
��������������!
	����
�
=��
#���

2� ���
����
		��������#�����
����
		���	�
�������
��
������
		�
�������������
���������
���������
�=�
�
Q�
	�:����
�����������

��

�
=����
����
��������
�
����
�	!��
����

4� ��������A	����������
����

���
��	�
����	
=
���
��
�����

�
��
��������������	����
��
��������A	�����
�
������


����
����
������3����



����
������

1' �������
��
�����������
�������������

1,� �����	!���
���������������A	���

���	���

��

�
�����������A	�������
������������
�������������
����
	

��

11� ��
��==���
=
����
���������
�����
����	�
������
����	!��
����.	��!:����
��
���������!���

��	������A	�������
����������)
�	
������
!����������������A	�������������������A	�
��
�������
��

1'� �!�B�������
�������
���������	��
��
���	!
��
������!����
��������	�����
��� �����
	

��
����	�������A	���������������
����	���

������������+�+�112�����&)0� �

1(� �!���
��#������67�42$�
!�
�����=�������	����	
�
�������	�������#�
����	��
�����B� +
�����+����!���
��#���!+�+�112��!����
�
�
�
�	�
�
�
�����
��
���� +����
�����+�Q����
���
������>�	!���
��#������67�42$����D���������	�
�������������
������
	!�
�����������	
#���
��>������
�����

��	�
��������
�



0�������
����������

�������
��
�����������
������������� 1(

��
���
����
�����
�

��
���
����
�


�!+

��
��
��������
�������������A	��������=
�����
������7+9��+7+6+�����

#������
�������
�����		���
�����
�=�
����

������2���1,������
�	������
��
�
��	����������B������
���
�����
	����
����
=
������
�=�
����

������1'���11������
�	�����������B
��	��!�����
���������
	
���
����
��
��

7+9��+7+6+�����

���
���
���
��

����������
���	�����������������
���������
	����	��#�

�==�����
�����	�
������A	���
��6��
�	���������
��>�7+9��+7+6+����������������	
�
���
���	������!��������
�>����
������
�	�
���
��
�+��>���
��==���
=
����1,/�O������������������B
����	

�����7+9��+7+6+������!����		����/,��
		
��
������		��
�������������	��=�����
�������
����
�����������3���
=�

��
���
�(��������

6�
��

���
������		


������������#��
���
��
��������
��������	�����
��
�����������������
����
���������
�������
������
�	!�
��������
��������
����.	��B

����	�

���
��

��

�
=
���

����
��>���������
�	���!���������
�������=
>��������
������
���		


��
������	���
�	������!������

����
��
���������
����

��

�
=����
����
������
�	���!�
�&�&�
���	�����
������!�������B
<��
���
��������
�����
�������
����	�����
����
��
������!���
����
�����	���>���

����	��
��������!���
�
������������������
��	������A	�����������	��
����
		�����

���
�������
�	�
�=����
��
��!��������
�����A	�������
����������
�������������+�����
�����	
�������

��

�
=����
����
�������������
��������	��#���
������	��

����
�������������>����	�
��
��=
������
��	���:�������������
��
�������
�������������
�����	����+���������������B�������
�����
��
��������������
�������

��		


��
������	��!�==�����
������������
��������
�	�
�������=
�
�����
��	�
����������
����
����������
���

�#��
��M���==��>�	����#	�������
��������
������!�B
#����
�	�����
������!��
��+�����������
���
��
��==����������
���	
�
����
���
��������
����������

�#��
>����������
�B
#�������	��
��������+�����
!���	
������B���
��
&���#�
�

�����������3����������
����!�����
������
����
���������

�
	�
��
�������������+425,,,'>
�����������+4$5,,,$������


������+44*,,%?������	!���������!�
����
�����
�������
����
�������
����������!�	�����
�
����
���
������B�����
�
����
�	�����
��������������!
��
�����	���	�
�������
���


������+,,5,,,'������	!���������
���������
��������������B���
��
�+
���
�+&(?,����
���
��

��	�
������	��������	�
�����
�����
����3����
��
������		


������
��!���
������
���������	��
�
��&��

�
����)�	=�������
��&��������������	���
	�������	!�����
���
��
�����L����������


�����
���
�����+��������	�����	�������A	��������
���
����������
�
��	<�������
�
���
�����

�����������	���������������
�
:
�<��
����
�	��!�	���������������


���������=	
�>�����������



0�������
����������

1? �������
��
�����������
�������������

6��
�
�������������
������+�4,&(%>�	�����+���
����
=
��	������


����!�	����������������������
���������
������

��
��������
���
��!�	���������������


���������=	
����	!
����
������
�
���
��
�
���	���
���	��
������
�����������������
������>����=
	���
���
>�����
����
����������>��	�

���������>�7+9��+7+6+>��
��������
�
�
�	���
�������B����
����
��
>���������#�#�����
=������!���������������

���������	�����������

�����
���
��������	
������

��
�

��������		


��������	����������B�#��
���
��
��������
������
��	������������
�������
��6���	�
>
	�
��

��

�
=
����
����
������
�	�
����
�
�==

���
���������
�������������
����������	��!������

����
��
����������������	
�������
������
��!�
�����������!�
���������
�	��������
����������>��������	!
�����
������7+9��+7+6+���������
�

������
�����
����
>�����N

7+9��+7+6+�
!��#�#�>��������

������������>���
�
��		��������=�
��
=����
���������
:
�<����������
�����!�	���������������


���������=	
�����

�����
�	�
���
��
���������A	�����	���
���	��
������
��������������>����
�	�
��������
�
�����	�
��

���
������		


��������	�

+,,&1/

)�����
��
�������
���
�"���(�����#�%
�����*������������
�����
����
�
���
���

�
�����
��������
��)��*�������
��
���
������������
�������������
����+,�-����.///�



+������

�������
��
�����������
������������� 1/

�����������)
�	
�=�

��������
�����	��
��
&��
������*
��
��#

��������������
�������0����





+������

�������
��
�����������
������������� 1$

�������*��������
��
��������
���
�

+�+�112 ��	�112��!+
���������
+�� ���������������A	����#
���	�
+���+ +

��
��
��������
�������������A	��������=
�����
��
+��+00� ������������

�����
���������

��
������
�
������
��������������
������������
���+ ������������
������	��
����
������
�����
��� ����������	��
����
�����
�����
����
����������
�67�42$ ��	�42$���
��
#��
����
����
������
���.�������
���	
-� �
����������	
� �����
0+78"��+���� ��������1������
�
���������
�����������
�����
������������
�
� �
����
7 ����
�� �
		�
����
�

". M" ������������������
	���
 + ��

������
�	��
��
 �� ���
����C
���&�

�����>����	!��#	�

�����������������������
 6"� 
:
�<���������
���������
�������
������

 
������

��+ ����
��
����	���
���	��
������
����
��+� 
:
�<������
����
		�����������=
������!��
���������
���		


��

F�� ����
���
���
�	����������
95- ��<
�������=��������
98 ���
����������
�
����
����	
* ���
��
O ���������
� ��#��

U �
����



